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Entrie=: 49605
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=== Lager OFF ---
Entries: SH3d&
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S Dhey: 03538 - 000711
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Run 5831 quartetwize, Diffs)
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Eniries: 49605
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Mean: -0.0021 «- QOO E
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L]

Run 5891 quartetwise, Asyms(

=== Laser ON -—
Eniries: 49605
Mean: 3760087 &/- 00593
Sid Dev: 221407 &+~ LOTO2
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Mean: -0.0854 - 00710
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=== Laser O -—-

Enlrie=: 45606
Mean: 16.2917 &/~ 00059
Sid Dhev: 137128 &0 00042

=== Lager OFF ---
Entrie=: 50546
Mean: 32383 «/- 00016
Sid Dhev: 03644 - 0,001
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=== Laser O -—-

Enlries: 49606
Mean: 31.3710 «/- 00119
Sid Dev: 26510 - 0.00&4

== Laser OFF ---
Entries: SE346
Mean: 64543 «/- 0.0027
Sid Dev: 0106 &~ 00079
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=== Laser ON -—
Eniries: 49605
Mean: 32,0009 «/- 0UOTE2
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Mean: -0.0658 < 0L0X3L
Sid Dey: TA919 &= 00236
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=== Laser O -—

Entrie=: 49605
Mean: -0.0016 «/- Du0d21
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=== Lager OFF ---
Entries: SH3d&
Mean: -0.0031 «/- 0u0d21
St Dhey: 04587 - D005
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Run 5831 quartetwize, Asyms DSbg1

=== Laser O -—
Eniries: 49605
Mean: 00003 «- 0.0004
St Dhey: 0U0E12 4~ D00

=== Laser OFF ---
Eniries: 5345
Mean: 00001 +- 0.0004
Sid Dhey: 0U0E12 4~ D003
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=== Laser ON -—
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Mean: 00038 +- 0.0014
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=== Laser OFF ---
Entries: SE3d&
Mean: -0.000%6 «- 0001F
Sid Drey: 03922 - 000072

G000

SO0

000

2000

1000

2500

2001

1500

1000

500

SO0

000

20010

1000

Run 5831 quartetwize, Asyms UShg2

=== Laser O -—-
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Mean: -0.0019 «/- 00014
Sid Dev: 0318Y - 00070
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=== Laser O -—-

Enlries: 49606
Mean: -0.0006 «- 00003
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== Laser OFF ---
Entries: SE346
Mean: 0L0007F «/- 0.0003
Sid Dev: 00738 - 00002
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=== Laser O -—-
Enlries: 45606
Mean: 00042 +/- 0.0010
Sid Dev: 02283 &~ 0.0007

== Laser OFF ---
Enlries: 5346
Mean: -0.0026 «- 00012
Sid Dev: 02718 & 00009
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